Maths Department
                                                                                            Pythagoras Theorem


15) ABC is an isosceles triangle, AB=AC=12 cm. BC =10 cm. Calculate the perpendicular distance from A to D.






  A

                               B



  D                       C

16) Work out the length of AB when coordinates of A are (4,7) and the coordinates of B are (16,12).


                                                     B



A


     C


Converse: If the sum of the squares of the two shorter sides of a triangle is equal to the square of the longer side, then the triangle is a right triangle.

Determine whether the three side lengths form a right triangle. Write yes or no and show your work:

17) 5, 5, 50
   ________


18) 6, 8,10  _______

19) 50,14, 48  ________


20) 12, 5,13  ________



Page 1

